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QUESTION 1

a) Discuss the thesis by Schegloff (2007: 59) that‘ FPPs and SPPs are ‘not

symmetrical alternatives’. [15 marks]

of talk-in-interaction.

L1 (3.2)

QUESTION 2

With close reference to the excerpt below and any other conversations you

might have heard, discuss the measures Schegloff (2007) believes are initiated

by utterers of SPPs that aim at eliciting a preferred relationship with the FPPs.
[30 marks]




L1 Edna: Wanna come down an’have a bite a’lunch with
L2 Me:?=| got some bee::r en stu:ff

L3 (0.2)

L4 Nancy: Well yer real sweet hon:, uh::m(.) [ let- | hav-

L5 [Or do yuh have

L6 sum’pn el[se t-

L7 [No: I have to uh call Bob’s met
L8 .h I told ‘er I:"d ca:ll ér this morning |
QUESTION 3

Discuss the sequence organizatio Ik: Use the excerpts below as

examples.

Excerpt 1

I{m) I've met ‘im
h Well uh actually: [when she’s-

[An’the way the:y

L7 ()

L8 Andy: Serious huh?




L9 Zee: .hYah,

Excerpt 2

L1 Kenny: ‘E likes that waider over there,
L2 Kim: Wait-er?

L3 Kenny: Waitress, sorry

L4 Kim: ‘Ats bedder,
Excerpt 3

L1 Lee: He had dis uh Mistuh W-m whatever
L2 think of his first name, Wa
L3 wrote [that piece
L4 Ray: [Dan Watt

Excerpt 4

mber and [I’'m not sure
[(whi-)

L5 Carol: whether he’s coming in to channel four

L6 eh

L7 ()

L8 Ann: TErminal 4




L9 Carol: yeah

QUESTION 4

Sidnell {2005) and Schegloff {2007) assert that there are measures that are
initiated by the recipient of a base FPP or prospective SPP speaker in order to

obtain a sequence whose parts are in a preferred relationship:with the utterer

Excerpt 1

L1 A: D’ you know the directions to the mall?

L2 B: uh {.) are ju drivin’or walkin'?=
L3 A: = walking {0.3)

L4 B: Get on the subway...




